

# Harry the Haggis

This exclusive, lovable character is our tribute to this iconic Scottish creature. Available in Milk, White, Dark Belgian chocolate and will truly make a great gift at home or abroad.



# Harry

**Product Code** HMCX6 **Unit Price** £6.60 **Units Per Pack** £39.60 **Price Per Outer** 

**Product Code** HWCX6 **Unit Price** £6.60 **Units Per Pack Price Per Outer** £39.60



**Product Code** HDCX6 **Unit Price** £6.60 **Units Per Pack** Price Per Outer £39.60

# Boxed Selections

These gift boxes make a great gift all year round the include selections from our chocolates which have proved to be among the most popular your Company Name, Logo, can be added

## SCOTTISH FAVOURITES SELECTION

A Scottish gift box of 18 of our wonderful creations in a presentation box

Product Code SF18X6
Unit Price £9.00
Units Per Pack 6
Price Per Outer £54.00





## BERRY LOVERS SELECTION

Super scrumptious 12 selection including Raspberry & Prosecco, Strawberry creams and Blueberry Gin

Product Code BL12X6
Unit Price £6.50
Units Per Pack 6
Price Per Outer £39.00

## ROSE AND VIOLET CREAMS

Rose & Violet Creams could be said to be our signature chocolates, as they have proved so popular with our customers.

Product Code RV12X6 Unit Price £6.50 Units Per Pack 6 Price Per Outer £39.00





## NUT LOVERS SELECTION

A Nutty selection to give to even the most ardent Nut lover

Product Code NL12X6
Unit Price £6.50
Units Per Pack 6
Price Per Outer £39.00

## Scottish Favorites

We have an extensive selection of 6 pack chocolate selections for quick pick up great for till point locations or impulse buys priced to sell quickly

#### SCOTTISH BUTTER TABLET

Soft, Crumbly and sumptuous

Product Code CBBTX6
Unit Price £3.50
Units Per Pack 6
Price Per Outer £21.00



#### HANDMADE CLOTTED CREAM FUDGE

**Buttery Crumbly Creamy Fudge** 

Product Code HCCFX6
Unit Price £3.50
Units Per Pack 6
Price Per Outer £21.00



## HANDMADE MACAROON BITES

Vanilla fondant centre Belgian milk chocolate, and rolled in toasted coconut

Product Code HMBX6
Unit Price £3.50
Units Per Pack 6
Price Per Outer £21.00



#### MILK CHOCOLATE TURKISH DELIGHT

Rose Turkish delight en-robed in a rich milk Belgian chocolate

Product Code MTDX6
Unit Price £3.50
Units Per Pack 6
Price Per Outer £21.00



#### LEMON &ROSE TURKISH DELIGHT

The delicious taste of Eastern promise

Product Code RLTDX6
Unit Price £3.50
Units Per Pack 6
Price Per Outer £21.00



## DARK STEM GINGER CHUNKS

Australian Buderim Ginger generously coated in rich dark Belgian chocolate.

Product Code DSGCX6
Unit Price £3.90
Units Per Pack 6
Price Per Outer £23.40



#### MALT WHISKY FUDGE

Traditional Fudge made with the finest Scottish Malt Whisky

Product Code MWFX6
Unit Price £3.50
Units Per Pack 6
Price Per Outer £21.00



## STEM GINGER FUDGE

Melt in your mouth Ginger Fudge with a kick

Product Code SGFX6
Unit Price £3.50
Units Per Pack 6
Price Per Outer £21.00



#### BELGIAN DARK COFFEE CREAMS

Belgian Dark chocolate filled with a soft subtle coffee fondant

Product Code CB09X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



### WHITE BISCOFF CREAM

White Belgian Chocolate Filled With Creamy Biscoff Ganache

Product Code CB13X6 Unit Price £2.75 Units Per Pack 6 Price Per Outer £16.50



## MILK BANOFFEE PIE

A soft Banana and caramel centre is topped with Belgian chocolate and chewy caramel

Product Code CB09X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



#### MACADAMIA SALTED CARAMEL

Salted Caramel pieces & Macadamia Nuts

Product Code CB13X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



#### 56%DARK STEM GINGERS

Shredded Chinese Stem Ginger in a rich Ginger syrup

Product Code CB10X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



## STRAWBERRY CREAMS

Strawberry Belgian Dark chocolate filled with a soft subtle twist of Rose

Product Code CB14X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



#### WHITE BLUEBERRY GIN

Pureed Blueberry Gin Gel with white chocolate and blueberry ganache

**CB11X6** 

Unit Price £2.75 Units Per Pack 6 Price Per Outer £16.50

**Product Code** 



## MINT CARAMEL SHIELDS

Sumptuous Mint Caramel encased in a 56%Dark chocolate shell

Product Code CB15X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



## RASPBERRY & PROSECCO

Creamy Raspberry &
Prosecco filling topped with

freeze dried Raspberry
Product Code CB12X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



## WHITE NUTELLA CRUNCH

White Chocolate with a creamy Nutella filling

Product Code CB16X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



#### **MILK CHOCCA** MOCCA

6 Handmade Chocolate Chocca Mocca

Product Code CB01X6 **Unit Price** £2.75 Units Per Pack 6 Price Per Outer £16.50



#### WHITE LEMON **MERINGUE PIE**

A traditional British dessert in one chocolate

Product Code CB05X6 Unit Price Units Per Pack 6 Price Per Outer £16.50



#### **CARAMEL BARRFIS**

6 Handmade Chocolate Caramel Barrels

Product Code CB01X6 Unit Price £2.75 Units Per Pack 6 Price Per Outer £16.50



#### **HAZELNUT CRUNCH**

Creamy Milk chocolate Ganache filled with Caramelised Hazelnuts Product Code CB05X6 £2.75 Unit Price Units Per Pack 6 Price Per Outer £16.50



#### **56% DARK VIOLET CREAMS**

Belgian Dark chocolate filled with a soft subtle twist of Violet fondant

**Product Code** CB02X6 Unit Price £2.75 Units Per Pack 6 Price Per Outer £16.50



#### **56% DARK ROSE CREAMS**

Belgian Dark chocolate filled with a soft subtle twist of Rose fondant

**Product Code** CB06X6 £2.75 Unit Price Units Per Pack 6 Price Per Outer £16.50



#### **TOFFEE SURPRISE**

Soft ozzingly good toffee Milk chocolate base & Caramelised Hazelnuts Product Code CB03X6

**Unit Price** Units Per Pack 6

£2.75 Price Per Outer £16.50



#### **56% DARK LIME CREAMS**

Dark chocolate crisp shell filled with soft key lime

**Product Code** CB07X6 Unit Price £2.75 Units Per Pack 6 Price Per Outer £16.50



#### **MILK HAZELNUT CARAMEL**

Milk chocolate, whole Hazelnut in rich caramel

**Product Code** CB04X6 Unit Price £2.75 Units Per Pack 6 Price Per Outer £16.50



#### **NUTELLA FILLED HEARTS**

Melt in your mouth Hearts filled with Nutella in Belgian Milk Chocolate Product Code CB08X6 Unit Price £2.75

Units Per Pack 6

Price Per Outer £16.50



# Handmade Gourmet Bars

Our handmade Belgian chocolate bars reflect our Scottish heritage and are the perfect gift from Scotland. Each bar is meticulously crafted to provide a taste experience that marries the rich flavours of Belgian chocolate with the distinct traditions of Scotland. Ideal for gifting, these artisan bars capture the essence of a festive celebration while embodying the quality and care Chocolatbox is known for.

11111

#### 56% DARK CHILLI BAR

56% Cocoa Belgian Dark chocolate with Chilli oil and Chilli flake decorations Product Code CB17X6

Unit Price £2.75 Units Per Pack 6 Price Per Outer £16.50



#### 56% DARK MINT LEAF BAR

56% Cocoa Belgian Dark chocolate with Mint oil and Mint leaf decorations

Product Code CB20X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



## 56% DARK VIOLET PETAL BAR

56% Cocoa Belgian Dark chocolate with Violet oil and Violet Petal Decorations

Product Code CB18X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



#### MILK BISCOFF BAR

Milk Chocolate with crushed Biscoff Cookie

Product Code CB21X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



#### 56% DARK STEM GINGER BAR

56% Cocoa Belgian Dark chocolate with Ginger oil and Stem Ginger pieces Product Code CB19X6 Unit Price £2.75

Units Per Pack 6
Price Per Outer £16.50



#### MILK MACADAMIA SALTED CARAMEL

Roasted Macadamia & Salted Caramel bar decorated with Salted Caramel pieces

Product Code CB22X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



# Handmade Gourmet Bars

Our handmade Belgian chocolate bars reflect our Scottish heritage and are the perfect gift from Scotland. Each bar is meticulously crafted to provide a taste experience that marries the rich flavours of Belgian chocolate with the distinct traditions of Scotland. Ideal for gifting, these artisan bars capture the essence of a festive celebration while embodying the quality and care Chocolatbox is known for.

#### MILK STRAWBERRY BAR

Belgian Milk chocolate with real freeze dried Strawberry pieces and dried Strawberry powder Product Code CB23X6

Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



## WHITE ETON MESS BAR

A refreshing and fruity taste of our Eton Mess Bar

Product Code CB26X6 Unit Price £2.75 Units Per Pack 6 Price Per Outer £16.50



#### MILK RASPBERRY BAR

Belgian Milk chocolate with real freeze dried Raspberry pieces and dried Raspberry powder

CB24X6

Unit Price £2.75 Units Per Pack 5 Price Per Outer £16.50

**Product Code** 



## WHITE BERRY CRUNCH BAR

White chocolate with mixed crunchy berry pieces and dried Berry powder

Product Code CB27X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50

NAMES OF THE OWNERS OF THE PROPERTY OF THE OWNERS OF THE O



## WHITE COOKIES & CREAM BAR

White Chocolate with crushed Oreo Cookie

Product Code CB25X6
Unit Price £2.75
Units Per Pack 6
Price Per Outer £16.50



#### 56% DARK CHILLI & GINGER

Belgian 56% Cocoa Chocolate Bar with Mexican Chilli Piece and Ginger

Product Code CB28X6 Unit Price £2.75 Units Per Pack 6 Price Per Outer £16.50



# All About The Kids Treats

Something for a quick treat or a special gift for quick pick up great for till point locations or impulse buys priced to sell quickly

#### NUTELLA FROGS

3 Magical Frogs filled with Nutella

Product Code CB30X6
Unit Price £2.80
Units Per Pack 6
Price Per Outer £16.80



## POPPING CANDY FROGS

3 Magical Frogs filled with popping candy

Product Code CB31X6 Unit Price £2.40 Units Per Pack 6 Price Per Outer £16.80



## GIANT WHITE FRECKLE

A chocolate giant disk covered in hundreds Thousands.

Product Code CB33X6
Unit Price £2.60
Units Per Pack 6
Price Per Outer £15.60



## GIANT MILK FRECKLE

A chocolate giant disk covered in hundreds Thousands.

Product Code CB32X6
Unit Price £2.60
Units Per Pack 6
Price Per Outer £15.60



## CHOCOLATE DINOSAURS

Belgian milk chocolate dinosaurs Triceratops, Spinosaurus and T Rex

Product Code CB35X6 Unit Price £3.50 Units Per Pack 6 Price Per Outer £21.00



## MILK CHOCOLATE LOLLIPOPS

Various Belgian Milk chocolate lollipops with fudge, toffee strawberry, popping candy

Product Code LOLI25 Unit Price £0.60 Units Per Pack 25 Price Per Outer £15.00



## STRAWBERRY & CREAM BUTTONS

Strawberry masterfully combined with our creamy Belgian white chocolate Product Code CB35X6

Unit Price £3.70 Units Per Pack 6 Price Per Outer £22.20



## WHITE NUTELLA MICE

3 Mice filled with Nutella and Caramelised Hazelnut crumbs

Product Code CB29X6
Unit Price £2.40
Units Per Pack 5
Price Per Outer £16.80

